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Exercise

1. Given the standard electrode potential value of some metals 

, ,

,  

Arrange these metals in their increasing order of reducing

power.

Watch Video Solution

K + /K = − 2.93V , Ag+ /Ag = 0.80V Hg2 + /Hg = 0.79V

M G = − 2.37V
g2 +

M
Cr3 + /Cr = − 0.74V

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XOtBN26DoHgU


2. State Kohlrausch law of independent migration of ions.

Watch Video Solution

3. What is a primary battery? Give one example.

Watch Video Solution

4. How much  in grams will be liberated if 1F electricity is

passed through acidic-fied wateR?

Watch Video Solution

H2

https://dl.doubtnut.com/l/_XOtBN26DoHgU
https://dl.doubtnut.com/l/_jxelCNcuMHGg
https://dl.doubtnut.com/l/_GE8OA4unEmb2
https://dl.doubtnut.com/l/_JsVpzP0zfDjm


5. Name one substance other than hydrozen that can be used

for constructing fuel cells.

Watch Video Solution

6. Define standard electrode potential.

Watch Video Solution

7. The measured emf of the cell- 

Cu^(2+)(aq,1M)|Cu(s)is 0.34V`.

What is the standard electrode potential of the half cell

corresponding to the reaction?

Watch Video Solution

Pt(s)H2(G, 1¯)∣∣H + (aq, 1M)∣∣∣∣

https://dl.doubtnut.com/l/_jbN9lUfhKPaU
https://dl.doubtnut.com/l/_BhEIumME4KOt
https://dl.doubtnut.com/l/_L1KEjHQAsXLu
https://dl.doubtnut.com/l/_4YT4uQOJ9mxO


8. Calculate the equilibrium constant of the following reaction

aty 298K. 

E_(cell)^Theta=0.46V`

Watch Video Solution

Cu(s) + 2Ag+ (aq) → Cu2 + (aq)2Ag(s)~Given

9. The conductivity of 0.20M solution of KCL at 298K is

0.0248Scm^-1`, Calculate its molar conductivity.

Watch Video Solution

10. A current of 1.50A was passed through an electrolytic cell

containing  solution with inert electrodes. The mass of

silver deposited to cathode was 1.50g. How long did the current

flow? (atomic mass of Ag = 108u, 1F = 96500C).

AgNO3

https://dl.doubtnut.com/l/_4YT4uQOJ9mxO
https://dl.doubtnut.com/l/_JHgt7QRYRQfk
https://dl.doubtnut.com/l/_M7umbAylF6dZ


Watch Video Solution

11. Three electrolytic cells A, B and C containing electrolytes

,  and  respectively were connected in

series. A steady current of 1.5A was passed through them. 1.45g

Ag were deposited at the cathode of cell B. How long did the

current flow?(Atomic mass of Cu = 63.5u, Zn = 65.3u, Ag = 108u.)

Watch Video Solution

ZnSO4 AgNO3 CuSO4

12. Three electrolytic cells A, B and C containing electrolytes

,  and  respectively were connected in

series. A steady current of 1.5A was passed through them. 1.45g

Ag were deposited at the cathode of cell B.What mass of copper

and zinc were deposited? (Atomic mass of Cu = 63.5u, Zn = 65.3u,

Ag = 108u.)

ZnSO4 AgNO3 CuSO4

https://dl.doubtnut.com/l/_M7umbAylF6dZ
https://dl.doubtnut.com/l/_GLdLyTA5fPHb
https://dl.doubtnut.com/l/_ks1uNnnOD32C


Watch Video Solution

13. How do you explain with the help of graph, the increase in

the value of molar conductivity with dilution in case of strong

and weak electrolyte?

Watch Video Solution

14. Depict the Galvanic cell in which the reaction takes place as

follows:  Individual

reaction at each electrode.

Watch Video Solution

Zn(s) + 2Ag+ (aq) → Zn(2 + ) + 2Ag(s)

https://dl.doubtnut.com/l/_ks1uNnnOD32C
https://dl.doubtnut.com/l/_Oz5KiMSPdJcN
https://dl.doubtnut.com/l/_Idzb9pdbAGCB


15. Write the Nernst equation of the following cell 

Mg(s)|Mg^(2+)(0.001M)||Cu^(2+)(0.0001M)|Cu(s)`

Watch Video Solution

16. Define molar conductivity of an electrolytic solution. How

does molar conductivity vary with concentration for weak

electrolyte?

Watch Video Solution

17. The limiting molar conductances of sodium chloride,

hydrochloric acid and sodium acetate are 126.45, 426.16 and

 respectively at 298K. Calculate the limiting

molar conductance of acetic acid at 298K.

91.0Scm2mol− 1

https://dl.doubtnut.com/l/_dtPY93kpbLPk
https://dl.doubtnut.com/l/_l77qihIbvziN
https://dl.doubtnut.com/l/_H0i8UvHB9Nid


Watch Video Solution

18. What is corrosion? Give two measures for the prevention of

corrosions of metals.

Watch Video Solution

19. Represent the cell with cell reaction-

 


Calculate the emf of the cell at 298K if the molar concentraction

of  and  ions in the half cwells are 0.10 mol 

and 0.01 mol  respectively. Given that 

 and  `

Watch Video Solution

Zn(s) + 2Ag+ (aq) → Zn2 + (aq) + 2Ag(s)

Ag+ Zn2 + dm− 3

dm− 3

E ∘Ag+ /Ag = 0.80V E ∘Zn2 + /Zn = − 0.76V ,

https://dl.doubtnut.com/l/_H0i8UvHB9Nid
https://dl.doubtnut.com/l/_cpl2PwzuF9qo
https://dl.doubtnut.com/l/_OX4MEL2q2Xsq


20. A current of 0.50 ampere is passed for 30 minutes through a

voltameter containing copper sulphate solution. Calculate the

mass of Cu deposited at the cathode. Given that atomic mass of

Cu is 63.0amu.

Watch Video Solution

21. Define molar conductivity of an electrolytic solution 

Show the variation of molar conductivity of a strong electrolyte

with square root of concentration.

Watch Video Solution

22. Three electrolytic cells A, B and C containing electrolytes

,  and  respectively were connected inZnSO4 AgNO3 CuSO4

https://dl.doubtnut.com/l/_pFsXdgJZUZzC
https://dl.doubtnut.com/l/_wv1z2Fh8zDfc
https://dl.doubtnut.com/l/_SP2dIglZvVQu


series. A steady current of 1.5A was passed through them. 1.45g

Ag were deposited at the cathode of cell B. How long did the

current flow?(Atomic mass of Cu = 63.5u, Zn = 65.3u, Ag = 108u.)

Watch Video Solution

23. Three electrolytic cells A, B and C containing electrolytes

,  and  respectively were connected in

series. A steady current of 1.5A was passed through them. 1.45g

Ag were deposited at the cathode of cell B.What mass of copper

and zinc were deposited? (Atomic mass of Cu = 63.5u, Zn = 65.3u,

Ag = 108u.)

Watch Video Solution

ZnSO4 AgNO3 CuSO4

https://dl.doubtnut.com/l/_SP2dIglZvVQu
https://dl.doubtnut.com/l/_aw0uKuX3NHf0


24. The limiting molar conductances of sodium chloride,

hydrochloric acid and sodium acetate are 126.45, 426.16 and

 respectively at 298K. Calculate the limiting

molar conductance of acetic acid at 298K.

Watch Video Solution

91.0Scm2mol− 1

25. Represent the cell in which the following rection takes place.

 


Write the Nemst equation and calculate the emf if the cell at

298K . Given 

Watch Video Solution

Mg(s) + 2Ag+ (0.01M) → Mg2 + (0.140M) + 2Ag(s)

E Θ
cell

= 3.17V

https://dl.doubtnut.com/l/_XFbzVTt3qcPD
https://dl.doubtnut.com/l/_mEXhO67Qvndf


26. What is battery? Give one example each of primary battery

and secondary battery.

Watch Video Solution

27. Which is true for a galvanic cell?

A. Total electric potential is equal to 1.0 volt.

B. Cathode is Zn rod & anode is Cu rod.

C. The cell reaction takes place in the same container

D. The currernt flows from positive terminal to negative

terminal

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_127i2MolrBH6
https://dl.doubtnut.com/l/_6PbYHYoSQ7f5


28. An electrolyte.

A. Forms complex ions in solution

B. Gives ions only when electricity is passed.

C. Possesses ions even in solid state.

D. Gives ions when dissovled in water.

Answer:

Watch Video Solution

29. If a salt bridge is removed between the two half cells, the

voltage

A. Dropes to zero.

https://dl.doubtnut.com/l/_6PbYHYoSQ7f5
https://dl.doubtnut.com/l/_SdZ269Hs2MMb
https://dl.doubtnut.com/l/_7bAkscZbOcO1


B. Does not change

C. Increased gradually

D. Increases rapidly

Answer:

Watch Video Solution

30. Which of the following is a redox reaction?

A. 

B. 

C. 

D. 

Answer:

Fe2 + → Fe3 + + e−

2Fe2 + + Cl2 → 2Fe3 + + 2Cl−

Cl2 + 2e− → 2Cl−

Sn2 + → Sn4 + + 2e−

https://dl.doubtnut.com/l/_7bAkscZbOcO1
https://dl.doubtnut.com/l/_CBh13C7JSd7B


Watch Video Solution

31. When a metal rod C in dipped in an aquos soluion of a metal

D (having conentration 1M for  ion) at  the standard

electrode potential are  volts. 

volts .

A. C will not dissolve

B. D will deposit C

C. NO reaction is possible

D. Water will decompose into  & .

Answer:

Watch Video Solution

D2 + 25∘C

C 2 + /C = − 0.76

D2 +D = + 0.34

H2 O2

https://dl.doubtnut.com/l/_CBh13C7JSd7B
https://dl.doubtnut.com/l/_IE5h6JDpgfGN
https://dl.doubtnut.com/l/_7AX86GYA14fN


32. The standard hydrogen electrode has zero electrode

potential bacasue.

A. Hydrogen is easily oxidised.

B. Its electrode potential is assumed to be zero

C. Hydrogen atoms has only one electron

D. Hydrogen is the lightest element

Answer:

Watch Video Solution

33. The potential developed at the electrode electrolyte

interface is due to.

https://dl.doubtnut.com/l/_7AX86GYA14fN
https://dl.doubtnut.com/l/_ni6E9l1blVRm


A. Irreversible reaction taking place at the metal surface and

the electrolyte.

B. Seperation of charges across the metal solution interface.

C. The electrode surface acquirs positiv charge due to

liberation of electrons towards solution

D. None of the above.

Answer:

Watch Video Solution

34. The standard potential of  electrodce = -3.34V. It

corresponds to the raction

A. 

Cu/Cu2 +

Cu → Cu2 + + 2e−

https://dl.doubtnut.com/l/_ni6E9l1blVRm
https://dl.doubtnut.com/l/_HJBfVhX3Me2i


B. 

C. 

D. None of the above.

Answer:

Watch Video Solution

Cu2 + + 2e− →Cu

Cu2 + + e− →Cu
1

2

35. The electrode potentials for the two half cell reaction is

given below. Determine emf


 


 E=+0.34V.

A. 

B. 1.36V

C. 2.7 V

Mg2 + + 2e− →Mg(s), E = − 2.37V

Cu2 + + 2e− →Cu(s),

−2.03V

https://dl.doubtnut.com/l/_HJBfVhX3Me2i
https://dl.doubtnut.com/l/_kMZSaxvRIN16


D. 2.03 V

Answer:

Watch Video Solution

36. The hydrogen electrode is dipped in a solution of pH= 3 at

. The potential of the cell is given by.

A. 0.177V

B. 

C. 0.087V

D. 0.059V

Answer:

Watch Video Solution

25∘C

−0.177V

https://dl.doubtnut.com/l/_kMZSaxvRIN16
https://dl.doubtnut.com/l/_TMVOTHP2Y3gm


37. Strong elecrolytes are those which.

A. Dissolve readily in water.

B. Conduct electricity,

C. Dissociate into ions at high dilution.

D. Completely dissociate into ions at all dilution.

Answer:

Watch Video Solution

38. The molar conductivity of a strong electrolyte.

A. Increases on dilution.

B. Does not change considerable on dilution.

https://dl.doubtnut.com/l/_TMVOTHP2Y3gm
https://dl.doubtnut.com/l/_Dt8iqs3UeIw6
https://dl.doubtnut.com/l/_UwDJ7rfGG2Nq


C. Decrease on dilution.

D. Depends on density

Answer:

Watch Video Solution

39. On which of the folloiwng factors the conductivity of

electronic conductor does not depend,

A. Nature of the matel

B. Surrounding pressure.

C. Number of valence electrons per atoms.

D. Temperature,

Answer:

https://dl.doubtnut.com/l/_UwDJ7rfGG2Nq
https://dl.doubtnut.com/l/_zNOG6NYqLxh9


Watch Video Solution

40. In the measurement of the conductivity iof electrolyte DC is

not used because.

A. Dc current cannot initate the reaction

B. DC current cannot be controlled.

C. It changes the composition of solution.

D. None of the above.

Answer:

Watch Video Solution

41. The SI unit of specific conductivity is.

https://dl.doubtnut.com/l/_zNOG6NYqLxh9
https://dl.doubtnut.com/l/_TRgnCBv0MzZL
https://dl.doubtnut.com/l/_LTkpL4U7aHPg


A. 

B. S.m.

C. 

D. 

Answer:

Watch Video Solution

m− 1

mS − 1

Sm− 1

42. The molar conductivity of weak electrolyte at infinite dilution

can be determied by

A. Incresing the volume of solution only

B. Decreasing the temperature

C. Kohlrausch law of independent migration of ions

https://dl.doubtnut.com/l/_LTkpL4U7aHPg
https://dl.doubtnut.com/l/_uDAQHAGISzDW


D. Calculating degree of dissociation only

Answer:

Watch Video Solution

43. The amound of ion discharged during elelctrolysis is not

directly proportional to.

A. Resistance

B. Time

C. Current

D. Chemical equivalent of the ion,

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uDAQHAGISzDW
https://dl.doubtnut.com/l/_fmrfpKsK4d5H


44. On the electrolysis of aquos solution of ,  on

cathode, we get

A. Na

B. 

C. 

D. 

Answer:

Watch Video Solution

Na2 SO4

H2

SO2

SO3

45. When concentrated sulphuric acid is electrolysed the main

product at the anode

https://dl.doubtnut.com/l/_fmrfpKsK4d5H
https://dl.doubtnut.com/l/_tlRkI7VNE9wM
https://dl.doubtnut.com/l/_CuZ3B8OtmdMG


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

SO2

O2

S2O
2 −
8

SO
2 −
4

46. The main components of Leclanche cell are

A. 

B. 

C. 

D. 

Zn, NH4Cl, C, Mn2O3

Pb, C, MnO2, NaCl

Zn, NH4Cl, C, MnO2

NaCl, Zn, Pb, MnO2

https://dl.doubtnut.com/l/_CuZ3B8OtmdMG
https://dl.doubtnut.com/l/_EPlQ45Hm3IjV


Answer:

Watch Video Solution

47. As a lead storage battery is charged.

A. Lead dioxide dissolves.

B. Sulphuric acid is regenerated

C. The lead electrode become coated with lead sulphate

D. The amount of sulphuric aic decreases.

Answer:

Watch Video Solution

48. Hydrogen oxygen fuel cells are used in space craft to supply.

https://dl.doubtnut.com/l/_EPlQ45Hm3IjV
https://dl.doubtnut.com/l/_KCT2lL9DKCRH
https://dl.doubtnut.com/l/_wV1pwZxyTzLP


A. Power for heat & light

B. Power for pressure

C. Oxygen

D. Water

Answer:

Watch Video Solution

49. Fill in the blanks 

Maximum electric work done by electro chemical cell is given by

the expression -

Watch Video Solution

https://dl.doubtnut.com/l/_wV1pwZxyTzLP
https://dl.doubtnut.com/l/_RDOUhPDL6QYc


50. Fill in the blanks 

Cell constant of a conductivity cell = 

Watch Video Solution

__ ×_ _

51. What is galvanic cell?

Watch Video Solution

52. What is the function of salt bridge?

Watch Video Solution

53. Define standard electrode potential.

Watch Video Solution

https://dl.doubtnut.com/l/_n2JRYOgt6sic
https://dl.doubtnut.com/l/_6gVDZdR7s0Ng
https://dl.doubtnut.com/l/_2pNm0uI0SNIz
https://dl.doubtnut.com/l/_NLOl62Bh1igf


54. Write the half cell reactions of Daniel cell.

Watch Video Solution

55. A cell is formed by two electrodes Cu & Ag. Write the cell

representation.

Watch Video Solution

56. What is hydrogen electrode?

Watch Video Solution

57. Why Cu does not dissolve in HCl.

https://dl.doubtnut.com/l/_NLOl62Bh1igf
https://dl.doubtnut.com/l/_pS2DkL8yGNQE
https://dl.doubtnut.com/l/_RPIoO1wEjHKl
https://dl.doubtnut.com/l/_3h4wkAkFmic8
https://dl.doubtnut.com/l/_j3w5HIVEAuKs


Watch Video Solution

58. What is inert electrode? Give one example.

Watch Video Solution

59. Standard reduction potential of Li atom is -3.05 volt. What

do you mean,

Watch Video Solution

60. Given the standard electroge potentials. 

. Arranges these metals in their decreasing order of oxidising

power.

K + /K = − 2.93V , Ag+ /Ag = 0.80V , Mg2 + /Mg = − 2.37V

https://dl.doubtnut.com/l/_j3w5HIVEAuKs
https://dl.doubtnut.com/l/_GXrIMlH5TkIp
https://dl.doubtnut.com/l/_5hoTkddjNGKb
https://dl.doubtnut.com/l/_0XOfNyRUbclu


Watch Video Solution

61. Write the relationship between standard electrode potential

and equilibrium constant  .

Watch Video Solution

(Kc)

62. Given 

. 


Calculate total emf of the cell.

Watch Video Solution

Fe2 + /Fe(s) = − 0.44V , Ag+ /Ag(s) = + 0.80V

63. The  for copper positive (+0.34V)It is only metal in

the first series of transition elements showing this type of

E Θ
M 2 + /M

https://dl.doubtnut.com/l/_0XOfNyRUbclu
https://dl.doubtnut.com/l/_FBl9wXQ1P2Xf
https://dl.doubtnut.com/l/_VLDG3AaQSqws
https://dl.doubtnut.com/l/_nbgHVEH8NWkv


behevious. Explain.

Watch Video Solution

64. Define resistivity and conductivity.

Watch Video Solution

65. Write the SI unit of conductance and conductivity.

Watch Video Solution

66. Give one example of semiconductor.

Watch Video Solution

https://dl.doubtnut.com/l/_nbgHVEH8NWkv
https://dl.doubtnut.com/l/_cuVObIbk6F5T
https://dl.doubtnut.com/l/_kAktxkVmQ7r5
https://dl.doubtnut.com/l/_AhIisHhhl2bu
https://dl.doubtnut.com/l/_wliWtcagigGA


67. Define molar conductivity of an electrolytic solution. How

does molar conductivity vary with concentration for weak

electrolyte?

Watch Video Solution

68. Can you store copper sulphate solutions in a zinc pot?

Watch Video Solution

69. Amount of charge carried by one mole electron is equal to

____

Watch Video Solution

https://dl.doubtnut.com/l/_wliWtcagigGA
https://dl.doubtnut.com/l/_lc5QQ8L3mgVs
https://dl.doubtnut.com/l/_s60ai497HZEA


70. Two boxes of volume  &  respectively are filled with

electrolytic solution containing 1 mole electrolyte in each box.

What do you say about specific conductance and molar

conductance in each box?

Watch Video Solution

1m3 2m3

71. Give one example each from 2-1,2-2 type electrolytes.

Watch Video Solution

72. State Kohlrausch law of independent migration of ions.

Watch Video Solution

https://dl.doubtnut.com/l/_MIlP8DlgG5sX
https://dl.doubtnut.com/l/_I0Ujw0XmBO4g
https://dl.doubtnut.com/l/_h4DXrmk0QcWO


73. Calculate the amount of electricity required to deposite 1

mol Cu atom at the cathode.

Watch Video Solution

74. Give two examples of metal which are extracted

electrolytically.

Watch Video Solution

75. What is a primary battery? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_Cs4daGPQD2FB
https://dl.doubtnut.com/l/_RRXeRrrIcWk5
https://dl.doubtnut.com/l/_juQLxSbllGq2


76. What type of battery is used in invertors? Gived one

example.

Watch Video Solution

77. Write the overall reaction of a fuel cell.

Watch Video Solution

78. Write the formula of rust.

Watch Video Solution

79. Give one example each of the surface coating agent and

sacrificial metal.

https://dl.doubtnut.com/l/_8O8BwOiOsrit
https://dl.doubtnut.com/l/_CL3BCQ60h1pa
https://dl.doubtnut.com/l/_6FVWWXYgGCVM
https://dl.doubtnut.com/l/_sm2yu7dL2M7N


Watch Video Solution

80. Suggest a method to determine the conductance of water at

infinite dilution.

Watch Video Solution

81. Why is a salt bridge not needed in a lead storage battery?

Watch Video Solution

82. In Danial cell, what will be the observation if the externaly

applied cell potetial is more than 1.1V?

Watch Video Solution

https://dl.doubtnut.com/l/_sm2yu7dL2M7N
https://dl.doubtnut.com/l/_O2aAjou9JZDl
https://dl.doubtnut.com/l/_ZNSiOpo75e7z
https://dl.doubtnut.com/l/_rZT7J9ypZIyG
https://dl.doubtnut.com/l/_ygDR0vMcwgBK


83. Why it is not possible to determine the absolute value of

potential of a single electrode?

Watch Video Solution

84. Why does an alkaline medium inhibite the rusting of iron?

Watch Video Solution

85. Why does a dry cell become dead after a long time even if it

has not been used?

Watch Video Solution

86.  is reduced to Ag by means of  but  is not.Ag2O H2 MgO

https://dl.doubtnut.com/l/_ygDR0vMcwgBK
https://dl.doubtnut.com/l/_1WJoF1bnVhn7
https://dl.doubtnut.com/l/_9SNxuKnJpWyM
https://dl.doubtnut.com/l/_mlca3pVGYpyH


Watch Video Solution

87. Calculate the potential of hydrogen electrode in contact

with a solution whose  is 10.

Watch Video Solution

P H

88. Why is equilibrium constant K related to only  and not 

?

Watch Video Solution

E ∘
cell

Ecell

89. What is the effect of an increase in concentration of zinc

ions on the electrode potential of zinc electrode for which 

equals to -0.76V.

E ∘

https://dl.doubtnut.com/l/_mlca3pVGYpyH
https://dl.doubtnut.com/l/_7sVPQTtQdVSg
https://dl.doubtnut.com/l/_DAKVKsBscGLg
https://dl.doubtnut.com/l/_yGUPdq0EHaQK


Watch Video Solution

90. Why a mercury cell gives a constant voltage throughout its

life?

Watch Video Solution

91. Draw the level diagram of a Daniell cell.

Watch Video Solution

92. What is salt bridge? Why is it used in electrochemical cell?

Watch Video Solution

https://dl.doubtnut.com/l/_yGUPdq0EHaQK
https://dl.doubtnut.com/l/_lKZOisCUdLK5
https://dl.doubtnut.com/l/_QA0CwzjdZpAS
https://dl.doubtnut.com/l/_grdivMuvFKkS


93. A cell is represented in the following way. 

 


Write the half cell reactions.

Watch Video Solution

Cu(s)∣∣Cu
2 + (aq)∣∣∣∣Ag

+ (aq)∣∣Ag(s)

94. A cell is represented in the following way. 

 


Which electrode acts as anode?

Watch Video Solution

Cu(s)∣∣Cu
2 + (aq)∣∣∣∣Ag

+ (aq)∣∣Ag(s)

95. A cell is represented in the following way. 

 


name the electrolytes required for the above cell.

Cu(s)∣∣Cu
2 + (aq)∣∣∣∣Ag

+ (aq)∣∣Ag(s)

https://dl.doubtnut.com/l/_OxWaK1FGkTF8
https://dl.doubtnut.com/l/_mo4PkNRN1WFj
https://dl.doubtnut.com/l/_rjM6AOiKXepa


Watch Video Solution

96. How would you determine the standard electrode potential

of the system ?

Watch Video Solution

Mg2 + /Mg

97. Given the standard electrode potential value of some metals.

, ,


, , 


. Arrange these metals in their

increasing order of reducing power.

Watch Video Solution

K + /K = − 2.93V Ag+ /Ag = 0.80V

Hg+ /Hg = 0.79V Mg2 + /Mg + − 2.37V

Cr3 + /Cr = − 0.74V

https://dl.doubtnut.com/l/_rjM6AOiKXepa
https://dl.doubtnut.com/l/_LtgfBdsWt232
https://dl.doubtnut.com/l/_QDui7JG9YFn7


98. Write the Nernst equation for the following cell. 

Watch Video Solution

Zn2 + + 2e → Zn(s)

99. Determine the e.m.f of the following cell at 298 K. 

.

Watch Video Solution

Pt(s) /Br1 /Br(0.01M)\H + (0.03M) /H2(g)(1¯)Pt(s)

100. Calculate the equilibrium constant for the following

reaction. 

 


.

Watch Video Solution

Fe(s) + 2Ag+ (aq) → 2Ag(s) + Fe2 + (aq)

E ∘
Fe2 + /Fe

= − 0.44V , E =
Ag + /Ag

+ 0.80V

https://dl.doubtnut.com/l/_PsFTvZvZFVU1
https://dl.doubtnut.com/l/_gXSv5ZQUay9Z
https://dl.doubtnut.com/l/_XHlI8vUaa7Qj


101. How will you calculate pH using Hydrogen electrode?

Watch Video Solution

102. The cell in which the following reaction occur. 

at 298K. Calculate the standard Gibbs energy and the

equilibrium constant.

Watch Video Solution

2Zn(s) + 2Cu2 + (aq) → 2Zn2 + (aq) + 2Cu(s)E ∘
cell

= 1.10vo <

103. What is conductivity.Write its SI unit.

Watch Video Solution

https://dl.doubtnut.com/l/_XHlI8vUaa7Qj
https://dl.doubtnut.com/l/_eOGSEHDX4vgu
https://dl.doubtnut.com/l/_UyDykPC1gX8w
https://dl.doubtnut.com/l/_O2QC4lGK2sYz
https://dl.doubtnut.com/l/_bQFc0wcyv40P


104. Write four factors on which conductivity of electrolytic

solution depends.

Watch Video Solution

105. What is cell constant? How is it determined?

Watch Video Solution

106. What is molar conductivity? How it is differ from specific

conductivity?

Watch Video Solution

https://dl.doubtnut.com/l/_bQFc0wcyv40P
https://dl.doubtnut.com/l/_ekJAbs4IfsmD
https://dl.doubtnut.com/l/_FIHAPllLzV9w


107. The conductivity of 0.20M solution of KCL at 298K is

0.0248Scm^-1`, Calculate its molar conductivity.

Watch Video Solution

108. What is limiting molar conductivity? Discuss the variation

of molar conductivity of a strong electrolyte with concentration.

Watch Video Solution

109. State Kohlrausch law of independent migration of ions.

Watch Video Solution

https://dl.doubtnut.com/l/_S3CEExG133qr
https://dl.doubtnut.com/l/_Zqrox6dOBFME
https://dl.doubtnut.com/l/_CiqAOdYobtHY


110. On which factors the variation of the molar conductivity of

weak electrolyte with dilution depend? How Kohlrausch law is

useful in determining the limiting molar conductivity of a weak

electrolyte?

Watch Video Solution

111. Show that  


Where  dissociation constant of weak acid 

Concentration 

 molar conductivity at any concentration 


 molar conductivity at infinite dilution

Watch Video Solution

Ka =
C ∧2

m

∧0
m ( ∧0

m − ∧m )

Ka → C →

∧m →

∧0
m →

https://dl.doubtnut.com/l/_mwzmZYCPOJ2I
https://dl.doubtnut.com/l/_RdrK3HB6wFuG


112. The limiting molar conductances of sodium chloride,

hydrochloric acid and sodium acetate are 126.45, 426.16 and

 respectively at 298K. Calculate the limiting

molar conductance of acetic acid at 298K.

Watch Video Solution

91.0Scm2mol− 1

113. Why does the conductivity of a solution decrease with

dilution?

Watch Video Solution

114. Conductivity of 0.00241 M acetic acid is

.Calculate its molar conductivity and what

is its dissociation constant?

7.896 × 10− 5Scm− 1

https://dl.doubtnut.com/l/_IDISzqXmoOK5
https://dl.doubtnut.com/l/_fdfFOBtJ60wC
https://dl.doubtnut.com/l/_Gvr3PYf1NeOZ


Watch Video Solution

115. Predict the products of electrolysis in each of the following. 

An aquous solution of  with silver electrode.

Watch Video Solution

AgNO3

116. Predict the products of electrolysis in each of the following. 

A dilute solution of  with platinum electrode.

Watch Video Solution

H2SO4

117. Predict the products of electrolysis in each of the following. 

A dilute solution of NaCl with platinum electrode.

Watch Video Solution

https://dl.doubtnut.com/l/_Gvr3PYf1NeOZ
https://dl.doubtnut.com/l/_MkmyXXJqi8ss
https://dl.doubtnut.com/l/_rdslLw4z6nJb
https://dl.doubtnut.com/l/_Y6hUUEuON2Zr


118. What is Faraday? Show that 1 Faraday=96487C.

Watch Video Solution

119. Consider the reaction:

 what is the

quantity of electricity in coulombs needed to reduce 1 mol of

?

Watch Video Solution

Cr2O
2 −
7 + 14H + + 6e− → 2Cr3 + + 7H2O

Cr2O
2 −
7

120. How much electricity in terms of Faraday is required to

produce. 20g of Ca from molten ?

Watch Video Solution

CaCl2

https://dl.doubtnut.com/l/_FooAG0SSJxUf
https://dl.doubtnut.com/l/_oHTbNw8dNtkB
https://dl.doubtnut.com/l/_uyaWoJRCwmbU
https://dl.doubtnut.com/l/_FBJ08A3jmfPN


121. Write the full cell reaction taking place in Laclanche cell.

Watch Video Solution

122. Write short note on lead storage battery.

Watch Video Solution

123. What is corrosion? Write the electrode reactions of rusting.

Watch Video Solution

124. One half-cell in a voltaic cell is constructed from a silver

wire dipped in silver nitrate solution of unknonw concentration.

It other half cell consists of a zinc electrode dipping in 1.0M

https://dl.doubtnut.com/l/_FBJ08A3jmfPN
https://dl.doubtnut.com/l/_azB1LFkeEZNZ
https://dl.doubtnut.com/l/_TUy1b8Ojho7b
https://dl.doubtnut.com/l/_EmKkeO86ALPt


solution of . A voltage of 1.48V is measure for this

cell. Use this information to calculate the concentration of silver

nitrate solution used

Watch Video Solution

Zn(NO3)2

(E0
Zn2 + /Zn

= − 0.76V , E0
Ag + /Ag

= + 0.80V )

125. Conductivity of  methanoic acid is 

. Calculate its molar conductivity and

degree of dissociation (Given 

and )

Watch Video Solution

2.5 × 10− 4M

5.25 × 10− 5Scm− 1

λ ∘ (H + ) = 349.5Scm2mol− 1

λ ∘ (HCOO) = 50.5Scm2mol− 1

126. A zinc rod is dipped in 0.1M  of . The sald is 95%

dissociated at this dilution at 298K. Calculate the electrode

sol ZnSO4

https://dl.doubtnut.com/l/_EmKkeO86ALPt
https://dl.doubtnut.com/l/_8dFRbdC98ELA
https://dl.doubtnut.com/l/_KooGH2UAOV36


potential. 

Watch Video Solution

(E ∘
Zn2 + /Zn

= − 0.76V )

127. How many moles of mercury will be produced by

electrolysing 1.0M . Solution with a current of 2.00A

for 3 hours? (molar mass of .

Watch Video Solution

Hg(NO3)2

Hg(NO3)2 = 200.6gmol− 1

128. Which of the following pairs will have greater conduction ? 

0,1M acetic acid solution or 1m acetic acid solution.

Watch Video Solution

https://dl.doubtnut.com/l/_KooGH2UAOV36
https://dl.doubtnut.com/l/_SUQuMdrhTpGh
https://dl.doubtnut.com/l/_7acJYrx7144b


129. Which of the following pairs will have greater conduction ? 

0.1M NaCl solution at  and 0.1M NaCl solution at .

Watch Video Solution

25∘C 50∘C

130. Calculate the equilibrium constant for the reaction. 

 


The standary reduction potentials in acidic conditions are 0.77V

and 0.54V respectively for  and  couples.

Watch Video Solution

2Fe3 + + 3I − ↔ 2Fe2 + I −
3

Fe3 + /Fe2 + I −
3 /I −

131. Calculate the electrode potential of a copper electrode

dipped in 0.1M solution of copper sulphate at . (Given 

for Cu is +0.34V at 298K)`

25∘C E ∘

https://dl.doubtnut.com/l/_6NKZo4ayeqf4
https://dl.doubtnut.com/l/_biAHO4gyRbPh
https://dl.doubtnut.com/l/_wZCgJCEw50gm


Watch Video Solution

132. Write Debye-Huckel-Onsagar equation what do different

symbols signify?

Watch Video Solution

133. Consider the reaction:

 what is the

quantity of electricity in coulombs needed to reduce 1 mol of

?

Watch Video Solution

Cr2O
2 −
7 + 14H + + 6e− → 2Cr3 + + 7H2O

Cr2O
2 −
7

134. The conductivity of 0.001M acetic acid is .

Calculate the dissociation constant of acetic acid if  for acetic

4X10− 2S/m

λ ∘
m

https://dl.doubtnut.com/l/_wZCgJCEw50gm
https://dl.doubtnut.com/l/_g26y7wBQQ4ma
https://dl.doubtnut.com/l/_hM2KfpJv04Vr
https://dl.doubtnut.com/l/_KCr1CMeLeQuI


acid is .

Watch Video Solution

390Scm2mol− 1

135. What is a Nickel-Cadmium cell? State its one merit and one

demerit over lead storage cell. Write the over all reactions that

occurs during discharging of this cell.

Watch Video Solution

136. A copper silver cell is set up. The copper ion concentration

is 0.10M . The concentration of silver ion is not known. The cell

potential when measured was 0.422V. Determine the

concentration of silver ions in the cell. (Given) 

Watch Video Solution

E ∘
Ag2 + /Ag

= + 0.80V , E ∘
Cu2 + /Cu

= + 0.34V

https://dl.doubtnut.com/l/_KCr1CMeLeQuI
https://dl.doubtnut.com/l/_mXz9y24ltT07
https://dl.doubtnut.com/l/_jiCte8qz38lt


137. Corrosion is essentially an electro chemical phenomenon.

Explain the reactions occurring during corrosion of iron kept in

an open atmosphere.

Watch Video Solution

https://dl.doubtnut.com/l/_jiCte8qz38lt
https://dl.doubtnut.com/l/_Ad17pl2eJQjL

